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40,000& 560901 22,400
= 4,480
Al 17,920
Sxe HZHH BOIFH X 50,000 50,000 0
Xl 25,000
Al 25,000
301 et A= 1,000 1,000 0
Xl 500
Al 500
09 HAIAHI EAZ 1,000 1,000 0
OWE, 39, Wits &otote B4
1,000,000& 1 A&~ 1,000
Xl 500
Al 500




N SEXNE D
MM == oA
SRS el =

SE
Helr ALot] &

2| sEME (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 5,000 5,000 0
Xl 2,500
Al 2,500
02 ItE A AMHEE 5,000 5,000 0
O=ay e HOIEH He 248
5,000,000 14 & 5,000
Xl 2,500
Al 2,500
402 RI2EX20| A 44,000 44,000 0
X 22,000
Al 22,000
01 It 2 AL E X 44,000 44,000 0
OsXg e2s BOIZY 23
44,000,000 * 104 2 44,000
Xl 22,000
Al 22,000
sEXNE Ity 36,960 44,623 AT ,663
SrrsS4NsE B 36,960 25,123 11,837
201 LB-2d| 36,960 25,123 11,837
01 At 22l 13,600 12,800 800
O1 get==2Hl 13,600
> SYIIEIE "HYsY" W
1,000& 1,000 +12& 12,000
> NEE2 Sd= 200,000& 80K 1,600
02 =24l 23,360 12,323 11,037
O1 83322 ¥ HA 11,541
PEYIIEYE (AYsY B PBE
700& 1,000 =128 8,400
DEINLRE = 80,0003 »3CH 240
DASH EEE 700,000& =3CH 2,100
>ASI FAZ 30,0003 +3CH *23] 180
DUASIM(SEZE)
130,000 = 1CH =13/ *90/ 100 117
DASIHA (2L E)
70,000 =4CH =131 90/ 100 252
DUSIA(SHESE)
140,000 *2CH =13/ *90/ 100 252
O4 Xtgd el 11,819
DatELE 3,416,000 =2CH 6,832
>PEsEAE 4,987,000& = 1CH 4,987
HE2LA U (sE=NHJA D) 147,606 108,956 38,650
= 14,400
Al 133,206
AHERIH(sEXE D) 106,242 69,272 36,970




2N sEXAA
M NSAAH (SENAD)
Crel: ole ol (5EXA D) (el @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 12.400
Al 91,842
ER2IH(s=XE ) 75,012 47,272 27,740
101 2121 4| 75,012 47,272 27,740
01 2% 75,012 47,272 27,740
OANZZRE 8,930& x28021 x25A| 2t x 12& 75,012
dedy (2X) 31,230 22,000 9,230
= 14,400
Al 16,830
101 @121 H| 31,230 22,000 9,230
= 14,400
Al 16,830
03 I HLs2E2 XNHE 31,230 22,000 9,230
Osgolils EXQ(sgdAd2olaEad) 31,230
Dol 1,200,000 x121x12& 14,400
= 12,000
Al 2,400
DA =g 1,200,000& «1021 %4 3] 4,800
= 2,400
Al 2,400
>ZAad ¥ 4 250,000 x121x12& 3,000
DA 35,000& 121 x16Y 560
DAEE = 2,500,000& *10! 2,500
DAIZER 222Y 180,000& 121+ 12& 2,160
gz M2 3,810,000& 12! 3,810
AUl (s=X ) 41,364 39,684 1,680
SR (SEXNAD) 41,364 39,684 1,680
201 et A H| 16,044 14,364 1,680
01 At 22l bl 14,484 12,804 1,680
O1 2Bt=2H| 9,780
>DEASY =24l 765,000& 12& 9,180
> M= 5,000& 10 ~12& 600
O5 = &t 4,704
>or2t, 5§22 7,000& x2801 x235| x 12& 4,704
02 3324 H| 1,560 1,560 0
O1 222=2 % HA 1,560
DRERS 130,000& ~12& 1,560
202 04| 21,120 21,120 0
01 2L Y| 21,120 21,120 0
OJI=2gd2=80 bl 20,000 8 x1121 x 128 21,120
203 Q2= Ayl 4,200 4,200 0
04 EANSIELRF=XH| 4,200 4,200 0
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